
There are 65 children at Hill School.  

17 children have packed lunch. 

12 children go home for lunch.  

The other children have a school lunch. 

How many children have a school lunch?  

 

 

 

 

Simon spends these five coins at the 
school fair. 

 

 

 

 

 

How much money has he got left from 
the £1? 

There are 25 people on the bus. Then 15 
more get on. At the next stop, 8 get off 
the bus. How many people are now on 
the bus? 

 

 

 

 

 

 

Eleanor has 24 fish. One Saturday, she 
catches 18 more. The next day her cat 
eats 12! How many are left? 

 

Aubree has £1.00 She buys two lollipops 
costing 25p each and a drink for 29p. 
How much money does she have left? 

  

 

 

 

 

Lewis has some raspberries.  

He eats two of them.  

Then Mason eats half of what is left.  

He now has 7 raspberries.  

How many raspberries did he have to 
start with? 

 

 


